Solving Equations Answer Document

Partner A:

—

4

)
-x+4=-6
'/Z\K_f‘_*__ ~10+4 =~ .
Zuu NS X ;"IO! "'(0 :~(p Ve N
=10
° 20 —E]— 3x— 10 mjlﬁﬂ— 30 =9 —5("7)—10
//\ 3>( - | QO:OH”;H"/D x=-7
(j\} y A0 - 40 v
. "I,_)Z
@x)=208 3(l+5(5)>>=305
(1 +35 ) = Q08
_‘§6+H0x :;20%83 7 +a00 =20¢ x=5
%%JK :.a_Q_Q >0¢ :.5208 v
. )(:5'"0
6% +%) = —120 *3(3#7):‘&0
“x g2 -5(13) = =130 -7
-120="130




S

305 =8(6x+3)—7

205 -8 (41)+3)-7

205 = ugxqu -7 305~ 8 (3 -7
hao‘;:uﬁx:g 305= 3137 x={
295 - utr 205= 305 \/
wg ¢
G =X
x—8=-8(bx+1) 0-¢: 9 blo, +1)
Y_g .‘_-L‘\gx_g (/‘%:”‘Z(OTO
X - X -9 =-¢( x=
:%8:—'-\0‘)(:? —g-~g |> O
- 4O B \/
—uy 4G9
O =X
6—-7(3x+7) =125 6~ (30a ?>: ‘ajb
b-alx -4 =125 b-70a4+0) = 1S
Ax-43-135 b-T(-17) =135 x="§
o ”3“&*'136 b+ =135
2 i 1825z 15 v
x+11 [+ _
S\YST 4.3 > =4
= -
xfl\ % _,L%,:q "
4=4v
x;].z%:t? H:Ig_f,’:—’:/‘)
A X3 4. = e=y
X - \S\_‘% "HrleT3
RS- =% =- 37




